

Research Article

Two Inequalities for ${}_r\phi_r$ and Applications

Mingjin Wang^{1,2}

¹Department of Mathematics, East China Normal University, Shanghai 200062, China

²Department of Information Science, Jiangsu Polytechnic University, Jiangsu Province 213164, Changzhou, China

Correspondence should be addressed to Mingjin Wang, wang197913@126.com

Received 26 August 2007; Accepted 13 November 2007

Recommended by Nikolaos S. Papageorgiou

We use the q -binomial formula to establish two inequalities for the basic hypergeometric series ${}_r\phi_r$. As applications of the inequalities, we discuss the convergence of q -series.

Copyright © 2008 Mingjin Wang. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction and main results

q -series, which is also called basic hypergeometric series, plays a very important role in many fields, such as affine root systems, Lie algebras and groups, number theory, orthogonal polynomials, physics, and so on. Inequality technique is one of the useful tools in the study of special functions. There are many papers about it [1–6]. In [1], the authors gave some inequalities for hypergeometric functions. In this paper, we derive two inequalities for the basic hypergeometric series ${}_r\phi_r$, which can be used to study the convergence of q -series.

The main results of this paper are the following two inequalities.

Theorem 1.1. Suppose a_i, b_i , and z are any real numbers such that $|b_i| < 1$ with $i = 1, 2, \dots, r$. Then

$$\left| {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \right| \leq (-|z|; q)_\infty \prod_{i=1}^r \frac{(-|a_i|; q)_\infty}{(|b_i|; q)_\infty}. \quad (1.1)$$

Theorem 1.2. Suppose a_i, b_i , and z are any real numbers such that $z < 0$ and $|a_i| < 1, |b_i| < 1$ with $i = 1, 2, \dots, r$. Then

$${}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \geq (z; q)_\infty \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty}. \quad (1.2)$$

Before the proof of the theorems, we recall some definitions, notations, and known results which will be used in this paper. Throughout the whole paper, it is supposed that $0 < q < 1$. The q -shifted factorials are defined as

$$(a; q)_0 = 1, \quad (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad (a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k). \quad (1.3)$$

We also adopt the following compact notation for multiple q -shifted factorial:

$$(a_1, a_2, \dots, a_m; q)_n = (a_1; q)_n (a_2; q)_n \cdots (a_m; q)_n, \quad (1.4)$$

where n is an integer or ∞ .

The q -binomial theorem [7]

$$\sum_{k=0}^{\infty} \frac{(a; q)_k z^k}{(q; q)_k} = \frac{(az; q)_\infty}{(z; q)_\infty}, \quad |z| < 1. \quad (1.5)$$

Replacing a with $1/a$, and z with az and then setting $a = 0$, we get

$$\sum_{k=0}^{\infty} \frac{(-1)^k q^{\binom{k}{2}} z^k}{(q; q)_k} = (z; q)_\infty. \quad (1.6)$$

Heine introduced the ${}_r\phi_s$ basic hypergeometric series, which is defined by [7]

$${}_r\phi_s \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_s \end{matrix}; q, z \right) = \sum_{k=0}^{\infty} \frac{(a_1, a_2, \dots, a_r; q)_k}{(q, b_1, b_2, \dots, b_s; q)_k} \left[(-1)^k q^{\binom{k}{2}} \right]^{1+s-r} z^k. \quad (1.7)$$

2. The proof of Theorem 1.1

In this section, we use the q -binomial formula (1.6) to prove Theorem 1.1.

Proof. Since

$$\begin{aligned} |(a; q)_n| &= \prod_{i=0}^{n-1} |1 - aq^i| \leq \prod_{i=0}^{n-1} (1 + |a|q^i) = (-|a|; q)_n \leq (-|a|; q)_\infty, \\ |(b; q)_n| &= \prod_{i=0}^{n-1} |1 - bq^i| \geq \prod_{i=0}^{n-1} (1 - |b|q^i) = (|b|; q)_n \geq (|b|; q)_\infty > 0, \end{aligned} \quad (2.1)$$

we have

$$\left| \frac{(a; q)_n}{(b; q)_n} \right| \leq \frac{(-|a|; q)_\infty}{(|b|; q)_\infty}. \quad (2.2)$$

Hence,

$$\left| \frac{(a_1, a_2, \dots, a_r; q)_n}{(b_1, b_2, \dots, b_r; q)_n} \right| \leq \prod_{i=1}^r \frac{(-|a_i|; q)_\infty}{(|b_i|; q)_\infty}. \quad (2.3)$$

Multiplying both sides of (2.3) by

$$\frac{q^{\binom{n}{2}} |z|^n}{(q; q)_n} \quad (2.4)$$

gives

$$\left| \frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} (-1)^n q^{\binom{n}{2}} z^n \right| \leq \frac{q^{\binom{n}{2}} |z|^n}{(q; q)_n} \cdot \prod_{i=1}^r \frac{(-|a_i|; q)_\infty}{(|b_i|; q)_\infty}. \quad (2.5)$$

Consequently,

$$\begin{aligned} & \left| {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ q, b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \right| \\ &= \left| \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} (-1)^n q^{\binom{n}{2}} z^n \right| \leq \sum_{n=0}^{\infty} \left| \frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} (-1)^n q^{\binom{n}{2}} z^n \right| \\ &= \sum_{n=0}^{\infty} \left\{ \frac{q^{\binom{n}{2}} |z|^n}{(q; q)_n} \left| \frac{(a_1, a_2, \dots, a_r; q)_n}{(b_1, b_2, \dots, b_r; q)_n} \right| \right\} \leq \sum_{n=0}^{\infty} \frac{q^{\binom{n}{2}} |z|^n}{(q; q)_n} \cdot \prod_{i=1}^r \frac{(-|a_i|; q)_\infty}{(|b_i|; q)_\infty}. \end{aligned} \quad (2.6)$$

Using the q -binomial theorem (1.6) obtains

$$\sum_{n=0}^{\infty} \frac{q^{\binom{n}{2}} |z|^n}{(q; q)_n} = (-|z|; q)_\infty. \quad (2.7)$$

Substituting (2.7) into (2.6) gets (1.1). Thus, we complete the proof. \square

3. The proof of Theorem 1.2

In this section, we use again the q -binomial formula (1.6) in order to prove Theorem 1.2.

Proof. Since

$$\begin{aligned} (a; q)_n &= \prod_{i=0}^{n-1} (1 - aq^i) \geq \prod_{i=0}^{n-1} (1 - |a|q^i) = (|a|; q)_n \geq (|a|; q)_\infty > 0, \\ 0 < (b; q)_n &= \prod_{i=0}^{n-1} (1 - bq^i) \leq \prod_{i=0}^{n-1} (1 + |b|q^i) = (-|b|; q)_n \leq (-|b|; q)_\infty, \end{aligned} \quad (3.1)$$

we have

$$\frac{(a; q)_n}{(b; q)_n} \geq \frac{(|a|; q)_\infty}{(-|b|; q)_\infty}. \quad (3.2)$$

Hence,

$$\frac{(a_1, a_2, \dots, a_r; q)_n}{(b_1, b_2, \dots, b_r; q)_n} \geq \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty}. \quad (3.3)$$

Multiplying both sides of (3.3) by

$$\frac{(-1)^n q^{\binom{n}{2}} z^n}{(q; q)_n} > 0 \quad (3.4)$$

gives

$$\frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} (-1)^n q^{\binom{n}{2}} z^n \geq \frac{(-1)^n q^{\binom{n}{2}} z^n}{(q; q)_n} \cdot \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty}. \quad (3.5)$$

Consequently, we have

$$\begin{aligned} {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ q, b_1, b_2, \dots, b_r \end{matrix}; q, z \right) &= \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} (-1)^n q^{\binom{n}{2}} z^n \\ &\geq \sum_{n=0}^{\infty} \frac{(-1)^n q^{\binom{n}{2}} z^n}{(q; q)_n} \cdot \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty}. \end{aligned} \quad (3.6)$$

Using the q -binomial theorem (1.6) obtains

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{\binom{n}{2}} z^n}{(q; q)_n} = (z; q)_\infty. \quad (3.7)$$

Substituting (3.7) into (3.6) gets (1.2). Thus, we complete the proof. \square

4. Some applications of the inequalities

Convergence is an important problem in the study of q -series. There are some results about it. For example, Ito used inequality technique to give a sufficient condition for convergence of a special q -series called Jackson integral [8]. In this section, we use the inequalities obtained in this paper to give some sufficient conditions for convergence of a q -series and sufficient conditions for divergence of a q -series.

Theorem 4.1. *Suppose a_i, b_i , and z are any real numbers such that $|b_i| < 1$ with $i = 1, 2, \dots, r$. Let $\{c_n\}$ and $\{d_n\}$ be any number series. If*

$$\lim_{n \rightarrow \infty} \left| \frac{c_{n+1}}{c_n} \right| = p < 1, \quad |d_{n+1}| \leq |d_n|, \quad n = 1, 2, \dots, \quad (4.1)$$

then the q -series

$$\sum_{n=0}^{\infty} c_n {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, d_n \right) \quad (4.2)$$

converges absolutely.

Proof. Letting $z = d_n$ in (1.1) and then multiplying both sides of (1.1) by $|c_n|$ give

$$\left| c_n {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, d_n \right) \right| \leq |c_n| (-|d_n|; q)_\infty \prod_{i=1}^r \frac{(-|a_i|; q)_\infty}{(|b_i|; q)_\infty}. \quad (4.3)$$

From $|d_{n+1}| \leq |d_n|$, we know

$$\frac{(-|d_{n+1}|; q)_\infty}{(-|d_n|; q)_\infty} \leq 1. \quad (4.4)$$

The ratio test shows that the series

$$\sum_{n=0}^{\infty} |c_n| (-|d_n|; q)_\infty \prod_{i=1}^r \frac{(-|a_i|; q)_\infty}{(|b_i|; q)_\infty} \quad (4.5)$$

is convergent. From (4.3), it is sufficient to establish that (4.2) is absolutely convergent. \square

Theorem 4.2. Suppose a_i, b_i , and z are any real numbers such that $|a_i| < 1, |b_i| < 1$ with $i = 1, 2, \dots, r$. Let $\{c_n\}$ and $\{d_n\}$ be any number series. If

$$\lim_{n \rightarrow \infty} \left| \frac{c_{n+1}}{c_n} \right| = p > 1, \quad d_{n+1} \leq d_n < 0, \quad n = 0, 1, 2, \dots, \quad (4.6)$$

then the q -series

$$\sum_{n=0}^{\infty} c_n {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, d_n \right) \quad (4.7)$$

diverges.

Proof. Letting $z = d_n$ in (1.2) and then multiplying both sides of (1.2) by $|c_n|$ give

$$|c_n| {}_r\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, d_n \right) \geq |c_n| (d_n; q)_\infty \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty}. \quad (4.8)$$

From $d_{n+1} \leq d_n$, we know

$$\frac{(d_{n+1}; q)_\infty}{(d_n; q)_\infty} \geq 1. \quad (4.9)$$

Since

$$\liminf_{n \rightarrow \infty} \frac{|c_{n+1}| (d_{n+1}; q)_\infty}{|c_n| (d_n; q)_\infty} \geq \lim_{n \rightarrow \infty} \frac{|c_{n+1}|}{|c_n|} > 1, \quad (4.10)$$

there exists an integer N_0 such that, when $n > N_0$,

$$|c_n|_r \phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q, d_n \right) \geq |c_n| (d_n; q)_\infty \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty} > |c_{N_0}| (d_{N_0}; q)_\infty \prod_{i=1}^r \frac{(|a_i|; q)_\infty}{(-|b_i|; q)_\infty} > 0. \quad (4.11)$$

So, (4.7) diverges. \square

Acknowledgment

This work was supported by innovation program of Shanghai Education Commission.

References

- [1] G. D. Anderson, R. W. Barnard, K. C. Vamanamurthy, and M. Vuorinen, "Inequalities for zerobalanced hypergeometric functions," *Transactions of the American Mathematical Society*, vol. 347, no. 5, pp. 1713–1723, 1995.
- [2] C. Giordano, A. Laforgia, and J. Pečarić, "Supplements to known inequalities for some special functions," *Journal of Mathematical Analysis and Applications*, vol. 200, no. 1, pp. 34–41, 1996.
- [3] C. Giordano, A. Laforgia, and J. Pečarić, "Unified treatment of Gautschi-Kershaw type inequalities for the gamma function," *Journal of Computational and Applied Mathematics*, vol. 99, no. 1-2, pp. 167–175, 1998.
- [4] C. Giordano and A. Laforgia, "Inequalities and monotonicity properties for the gamma function," *Journal of Computational and Applied Mathematics*, vol. 133, no. 1-2, pp. 387–396, 2001.
- [5] L. J. Dedić, M. Matic, J. Pečarić, and A. Vukelić, "On generalizations of Ostrowski inequality via Euler harmonic identities," *Journal of Inequalities and Applications*, vol. 7, no. 6, pp. 787–805, 2002.
- [6] M. Wang, "An inequality for ${}_{r+1}\phi_r$ and its applications," *Journal of Mathematical Inequalities*, vol. 1, no. 3, pp. 339–345, 2007.
- [7] G. Gasper and M. Rahman, *Basic Hypergeometric Series*, vol. 35 of *Encyclopedia of Mathematics and Its Applications*, Cambridge University Press, Cambridge, Mass, USA, 1990.
- [8] M. Ito, "Convergence and asymptotic behavior of Jackson integrals associated with irreducible reduced root systems," *Journal of Approximation Theory*, vol. 124, no. 2, pp. 154–180, 2003.